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Assessment Name : OPRB CBRE Warder- 26th Dec 2022-S1.-2(A),
# QUESTION
Subject: General English | Chapter: set-11

Through he was born of poor parents, he rose to greatness.

1
Qm Pick out the "Main Clause" from the above sentence.
A. Though he was born of poor parents
) v B. he rose to greatness
Options
C. he was born of poor parents
D. was born of poor parents, he rose

Q@2 He is very funny. He makes me

A. laughing
) v B. laugh
Options
C. to laugh
D. laughed
Q@3 Whocan ~ such mischief ?
A. catch up
B. run out of
Options )
JE. put up with
D. come out with
Q (4) | The child walked fast to his parents.
A. come out with
) v B. catch up with
Options
C. look forward to
D. get on with

QB She said, "My God ! I am ruined.” (Change into Indirect Speech)

VA She exclaimed sadly that she was ruined
B. She lamented that she is ruined
Options
C. She said that she is ruined.
D. She told that she was ruined.
Q(6) The teacher was very pleased their work.
A. on
v B. with
Options )
C. in
D. to
Q( If my ticket, I'll be in trouble.
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A. I'll lose
I lost
Options
I would lose
JD. I lose
Choose the correct antonym of
Q® .
rival :
VA associate
B. helpful
Options .
fair
D. courteous
QM Find a job and end your on your parents.
A. depend
v B. dependence
Options
dependent
D. dependently
Q (10) = The big tree was the lake.
A. in
B. within
Options
J C. across
D. off
Translate in to English:-
Q . ~
QU@ FEER RN FQRYEM & ?
JA. Was the king hunting in the forest?
B. Is the king hunting in the forest?
Options
Was the king hunt in the forest?
D. Is the king hunt in the forest?
Qa2 Translate in to English:-
JOI6Q SIRG amel 28, 642IQ 68015 QIR ?
A. There is four pens here, which of them is yours?
) v B. There are four pens here, which of them is yours?
Options
There is four pens here, which of them are yours?
D. There is four pens here, which of them were yours?
03 Translate in to English:-
15 69669 I8 @RI Il ?i\‘]ﬁ:lgﬁ URRGI RIQ AR |
Options VA I have gained these experiences by travelling abroad.
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B. For Gain these experience I have traveled abroad.
C. I am gaining these experience by travelling abroad.
D. I will gain these experience by travelling abroad.

Translate in to English:-

Q4 o
: QF QUR @&l K68 BaMm 2
A. Was your brother lawyer ?
v B. Is your brother a lawyer ?
Options
C. Did your brother a lawyer ?
D. Did your brother was a lawyer ?
Translate in to English:-
Qas) = =
aIeLI6eR KGR gl ol 9 |
v A. We put on new clothes on our birthday.
B. We put up with new clothes on our birthday.
Options
C. We were wearing new clothes on our birthday.
D. We put out new clothes on our birthday.

Read the passage and give your response based on the passage.

In the world today we make health and end in itself. We have forgotten that health is really
means to enable a person to do his work and do it well. a lot of modern medicine and this
includes many patients as well as many physicians pays very little attention to health but very
much attention to those who imagine that they are ill. Our great concern with health is shown

Q (16) by the medical columns in newspapers. the health articles in popular magazines and the
popularity of television programmes and all those books on medicine. We talk about health all
the time. Yet for the most part the only result is more people with imaginary illness. The
healthy man should not be wasting time talking about health: he should be using health for
work. The work does the work that good health possible.

Modern medicine is primarily concerned with

A. promotion of good health

v B. people suffering from imaginary illness
Options ) ]
. people suffering from real illness
D. increased efficiency in work

In the world today we make health and end in itself. We have forgotten that health is really
means to enable a person to do his work and do it well. a lot of modern medicine and this
includes many patients as well as many physicians pays very little attention to health but very
much attention to those who imagine that they are ill. Our great concern with health is shown
by the medical columns in newspapers. the health articles in popular magazines and the

QA7) popularity of television programmes and all those books on medicine. We talk about health all
the time. Yet for the most part the only result is more people with imaginary illness. The
healthy man should not be wasting time talking about health: he should be using health for
work. The work does the work that good health possible.

Talking about the health all time makes people
Options 4 always suffer from imaginary illness

B. sometimes suffer from imaginary illness
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C. rarely suffer from imaginary illness

v D. often suffer from imaginary illness

In the world today we make health and end in itself. We have forgotten that health is really
means to enable a person to do his work and do it well. a lot of modern medicine and this
includes many patients as well as many physicians pays very little attention to health but very
much attention to those who imagine that they are ill. Our great concern with health is shown
by the medical columns in newspapers. the health articles in popular magazines and the

Q (18) popularity of television programmes and all those books on medicine. We talk about health all
the time. Yet for the most part the only result is more people with imaginary illness. The
healthy man should not be wasting time talking about health: he should be using health for
work. The work does the work that good health possible.

The passage tells us
A, how medicine should be manufactured
v B. what healthy man should or should not do

Options
what television programmes should be about

D. how best to imagine illness

In the world today we make health and end in itself. We have forgotten that health is really
means to enable a person to do his work and do it well. a lot of modern medicine and this
includes many patients as well as many physicians pays very little attention to health but very
much attention to those who imagine that they are ill. Our great concern with health is shown
by the medical columns in newspapers. the health articles in popular magazines and the

Q19 popularity of television programmes and all those books on medicine. We talk about health all
the time. Yet for the most part the only result is more people with imaginary illness. The
healthy man should not be wasting time talking about health: he should be using health for
work. The work does the work that good health possible

A healthy man should be concerned with

JA. his work which good health makes possible

B. looking after his health
Options
his health which makes work possible

D. talking about health

In the world today we make health and end in itself. We have forgotten that health is really
means to enable a person to do his work and do it well. a lot of modern medicine and this
includes many patients as well as many physicians pays very little attention to health but very
much attention to those who imagine that they are ill. Our great concern with health is shown
by the medical columns in newspapers. the health articles in popular magazines and the

Q20 popularity of television programmes and all those books on medicine. We talk about health all
the time. Yet for the most part the only result is more people with imaginary illness. The
healthy man should not be wasting time talking about health: he should be using health for
work. The work does the work that good health possible.

The passage suggests that

A. health is an end in itself

) B. health is blessing
Options _
JC. health is only means to an end
D. we should not talk about health

Subject: Odia Language | Chapter: set-11
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Options
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JA. 9999
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Options
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_— 09 95Q Sa1e 226QRIG 98 f'¢ 621
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A. 0
B. 64819,
Options
6
D,  6@uy
il 09 909 S91e 226QNRIT 69 Q'¢ 621 2
6919
A.  968Id
B. 26519
Options
vC. 698
D. QS
O QUL FNQIR FJRULIF I8 a9 |
§19% Gaoag QT QN6 |
A, 2489
vB. fga
Options _
C. Q49a
D. AERR
Q6 691618 QIRYR 22g LR FR6 T B1g OF IR FIRIER IRLEE AL, 656S
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Options & aqqlay
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/B  QIqYa paiea
C.  QlRUSe
D. Qleyqd

Q) ¢ mE & 6QHA | - 921 I8 & IR ARY ?

A. Ya][]=
B. a4
Options
S C. an
D. QoR
JFTERT F6M [ 689 2
Q®
Ag5ie"
A, A8 +4e
v B. 228 + Qe
Options
C. 29 + 9@
D. AL+ 4%
Qo) T69ID gg6 ¢S 68 T2 |
(A) 9gRe (B) 999E (C) 99899 (D) 0¢8YQ
JA. LY
B. AR
Options g
C. 9e8dQ
D. L8y

Q(10) &g FANCA AFS! - 9T ERIFGISNT 699 26 USLIR FAUAIRN2IN ?
A, QIR 6dedy AR BF6R FRYC!
B.  2IENQ 6RIG S80I IS8 9RSl
Options _ _ _ _
vC.  6q188 QI @@ Q6d f¢la 98l & AR
D. g9 FRIEA QARG

R°QURT AFERIR A0F 332 2AFRIS TR FQ

Q1) . :
Question papers have not been printed out yet.
A, Q908 RULIA QD |
B. g99g 8dIAS QI |
Options s
vC. 998 ¥ adye AR FIE |
D. g99g 9 adie KIS e1F |
Qa2 R°QURT AFERYR A0S 32 2AGRNG SR /A

I did not notice you raise your hand.
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JA.  §6619I6 65919 ¢ 6QYR QIF 1
B. G661 9IS 661N ¢ 6QYAR 1

Options _ o _

C. 2651 QIe 65RRIA €] 694Gl 1

D. 66 Q669N 6960169 QT |
0a3) R°AUR1 AP6RLR OF 3Z2 ARG PAR /9

He does not work in the afternoon.

A. QINEER 78 QIF aR Q1T 1
/B. QINEERI 68 QIF 998 QIR 1

Options L .

QUE Nl @ ¢ QY

D.  QUOESRI AR SIF 658 Q1T 1
Q (14) R°QUR1 2AFERR A0S (G2 AFRIS TAF AR

You couldnot have passed the examination without my help.

A. 651 QleIFy 51 9661 AI6R ALY KRS ?

B. 2661 fé K6 I YRR 6Ll aleigy 9g1 2
Options

/C. el gieidy 59l 966l doumien Qlg SRQIRRS |
D. 691224y TG 966 VG FQIT AIF FRARRAIT |

QAR APERIR 40T BF2 AFRIQ AR AR

Qas)
They would have gone to Cuttack by road.

A. 626165 QUAIRIET 5@ J6S

B. 62¢1I6S QULIRIET R DLIR AR 1

C. 649168 QULILIET 299 ARAIE |
v D. 64¢116% QULIRNET K9G dIR2les |

Options

2G6R9T FI0SA 61' 67 FAINYS YN AN, AFERS ARINEH §2 |

RNQ QR 6141T @2l Tal AR gE2el Al doRe 2lig Fe8 /4 GILl gRls /RS
ARG ARGA T | SIRG IR FIe@FR QRIS FI6QINIS, ARNILR 661E G2l g4°UR 98
2A6LER QNG IR YR 026 618G QOR 2SI AF FGT | IQ1 AAIR @19 6 URAIR
JOFA GEL | 68¢ FEY SIR AYALR 669417 2RIA AT AGNGE F9IF 99e FES QU6
JRI1G €16 62IF4 GRS @FE | IRIFISI AAIRER FeY M QUIL 9ETE 6RIRAIRS | 26E
IRIE Yo6Q JLB6m c1dl TRIERQ 9F QUL CRUEII U6 9B 69 Qlg | 22S 9
dIg1E AIR6S AT AREUR TR 6RIR6R F Il AGES FR26M SIl SIS

621 QEAIRE | GI'Q RIQE 62QE, 6ACICEH 26M YINIG TEF; RILIR ARI6R 6LI6R
JRGIRG G6LIR TR RIQRLG FREe FQ6M | AYAFO0IER G K9le B R1RGg RIS
60869 QEIR RQRl6M | IRNG T8I AR FlIFS AR A6IFE 21T ALFAN |

(FAcI6T QAR TR RQRAG SQ5IC aQAeM ?

Q (16)

CpHGEs A RoR7I68 AR FIZINIRI FIeT RRIE AAGIRG 681R TR ARG F95e
T QQRem |
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Ra8Iea 2em RIS 589, 647168 RIZIA ARIER IAFIRG F6EIR FA
RIQRQ Sadic a6 |

C. o868 AR ARIER IRCIRG 621N R RIARFG Sade fQ2l6Mm |
D. Jeadales gel FIew aRl69 JasIRe 62IR Fe9 RIFETq §ade aQlem |

2AQ6RLT UIORA GI' G6R TAILINYSI 9IYEN AR, AFERR ARIAECA T |

QRIE QU6S 6216Q @2l T2l @aQ §a2el a9l gone q2lg Jed a7 GIel gels /Rl
ARSI aafasa @9 | 989 gRe 9w QQING F6IAIS, ARYIAR 6612 G2l gI°U g6
26ReR g@mel Gl RIIE 528 987 96R 229 Agf 29 | 981 AR RIS 6 ALAIR
O 962 | 68¢ 1Y CI9 AFRGR 696715 AN 87 AUTE F99 YIe GRS QU6
RIE €16 6DITE ARSI QTS | ITIFIR AFNFER ABY e QUILt ITHE 62IRARS | 26
HIF Yol6R ALFeM F1d TRIGA F QUIELA RIS gF 98 69Q A1 | 225 g
dIFG FIR6A FRAFI6E AR TGS 6RIR6A 9 LIFI 2GRS FR2U6A GI8! §I15e
6QIR QLIRS | 61 [N 62AR, 64CI6R 26m YRR T8a: FILIR ARIER 62F16Q
JRPIRG F6LiR R RIFRG Sade agelem | RYAR0IER U BI6 6 F19eg RIF
6GE60 Q4G FQIUER | 1E TSI ANGER FIFS AFIRA AGUSE 21T ALEAN |

Alee A9IRQ 26AUISE KR 6LIR2AN 2

Q(17)

A. JRING TGl ARNER FIRE AFIRR QSIS 622N |
Options vB. RN 58 ARER FIFS AR 26ITIE 621N |
C. RN ¢l AW QTR LFNER 26AIFE 612N |
D. 6FRIRG TRIAI FGI ARILER QRS AFIRA QRIGE 621R2I |

2g68eT 9I0a% ¢1' 86% F2IMINAS| 9996 AR, AFERT ARMAER §2 |

RIS Q6 Q16T @2l 2l QaQ §E2Ql @9l gohe a2lg Jed @7 GIgl g!ls 899l
YRGIR AE0 G | S8 90 IR QAILNE 69118, AU 671T G2l 9L g6
26LLR QG‘%‘GI SIR RIS T86 85 9o 22l def ARG | 98l AR F1eR < QAUYAR
R G62 | 604 FI8Y CIR AFGR 6967Ig ARIN 9 NS FFIF Yoa FaR QU6S
JRIG €18 6DITE @RS AEE | ILIFIR AAIRER ABY e QUILk IFHE 62IRARS | 26
Qe golea aedeem A CRITR 9 QUIea fmical g6 98 690 QIg 1 229 9
dIg1® QIR6R JRRATCI6E ARAEUR TGS 691R6R 98 AT AR a26M FITI §lge
6N QEUIDR | G KRG 62AR, 6476 26m JRIF T29; AL ARIER 62FN6S
JRGIFG F6LIR AR RIFREAG SR46 9QRI6R | RYAF0IER MIFAG GIIG B H190g RIF
60569 Q68 FQRlEM | YAUIF T8I ANFER FlIFS AR 2A6AISE 21T agFAIg |

Je YIRS 694 QIS ¢IF A ARIR2 2

Q (18)

588 o9 fIe@a 9°a1d F6RIRIS, Slg 9¢ ARIR2IN |
f80 goe FIee9 QQIQ F6RIRIS Gl dgf ARIRRN |
Options | ¢, Q¢ goR FIReQ 68RITR TSR QIS Plg Agf QRN |

SRS G99 AIFEQ QRILIF F6QIRIS, ARYILARQ 641IL 62l A°AR 9T 26LLR

D. !
% 9ERGI IS SIg T5 ARIRAIN |

Q1Y) 266293 AI08E 6I' 667 TAINNAS| FIYEN AN, AFERS 2ARINER §2 |

RIS QU6 62163 @2l T2l 2aQ §E2Ql @9l gone q2lg Jed a7 ¢lgl g.ls a9l
ARG ‘JQ‘G'Q‘ a9 | 8% HEe IR QUINE F6G1WI, AWUILR 6¢1IL Yell §9°R QG‘
2deELa ij@ﬁ?@l Qe RIe See 68 QQ&? 2RI A K9G | 981 TR }19F B QIQ&]I@
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Jeaa g6< | 65¢ FES 610 AAIR 696FIF 2RIR 8 AIFITE T9Id Y5 FEa @I6T
QRIIE F18 69188 SRR QTS | 1QIFIRI AAIRER AGY el fUIS 9ETE 62IRARS | 2li6el
QRIA Y68 A2TIER 1t THIGR 9F QLA RIS 96 9] 699 AIF | 2216 9
1918 SIR6S JRRTI6R 208U F68 6RIR6R 64 LIl 2GRS FR26m SI12! §Ige
6210 QFUIRR | 69 FI0 62L&, 6JFI6R 2J6R YA TET; FITI0 AKIER 66
JRGIRG F6LIR FRA RIFGTg F56 G26M | RIARO0IER ULAE F9I6 6 R19RG BIF
69866 Q48 G92l6M | YRNe T8I ARINER FIRS AFIGS AGISE 21T L8N |

AFIRER 4Y, Ad B QUG RAG ETE 6LIRAIRNS 2

A8Y G190 YLR 690515 2RI 7R AGSE §¢I9 96R TR RIS NG
18 69186l RR6M AAIRER 96Y, ¢l B QUIR §E]E 6LIRARS |

(8% 619 FA9R 699915 RN 95 ATSE T4 I8 FES QIS NG 618
60184 SRR AAIFER 96Y, el 6 QUIgt 9TTS 6LIRARS |

89 S0 RYNER 65971g AR K8 QITISE FEI Je FEa Q16T YRUIE €16
6CITE AR AFIRER ABY, 2el B QUILL GOTE 6LIRARS |

A8Q GIR 6FRIFR TSRIAUG AR FF AFIE T Y FER QR RIS £19
62IgE RREM AFRER AAGY, 2IEl 6 ARUIA 9F]E 6LIRAIRS |

A.

Options
v C.

D.

29689T QI0aR ¢I' 86% ARSI IYELN QAR AFERS ARIAEA &2 |

RIS QIS 6916T Q2ll T8I fat §éilel @fll doRe K2lg 9ed /4 SIgl gals /Sl
ARGIR Qaesa, &9 | 86 g1 FI9R9 QLG FI6QINS, ARYILE 6¢1IT G2l §A°AUR g6
ACLLS g@ﬂ@l QIR RIG 584 918G 99 22! AP FRGY | I8! AR RIS G AR
O 96< | 664 188 61 RYAGR 656717 AN FQ WFSE 8419 Qee A0 QU6
RIS €16 6QIVE @RS @FE | 92IFIR AAIRER AeY e QYA IOTE 62IRARL | 2lI6e
RIS YoI6a ILT6R £l TRIER OF QTR FJRYESRI I8 Q& 69Q Al | 22IS °F
dITE RIREA YRR AREA LG 6RIR6R €T FIT AGOS aQ26m SIgl §llge
62IR QEAIRR | GI'R FINE 6LQR. 64C1I6R 26M YRIQ T81; LR DRIER 6FNER
dogIRe R6LIR e RINEg Sade RQREM | RFAR0IER JIFAE K96 6 R19Fg RIF
65860 Q4G aQAem | JUIE S8l ARNSER FIFS AR 2A6USIE 2P ALEAI |

690 92l 2IFIR ARGIN ARSL 69Q2AN ?

Q (20

A U9 96 26299 ERG! 62R& 2If ARTIA ARSL |

o QRIE BI6S 641613 @2l T8I fad §deIel AR gORE fallg I8 9 Rl @RS
Options 6208 26 ARGIQ IS |

QUFISE T 9& deLyQ g@ﬁ‘@l 62QR 2Ifl ARSI AL |
D. SRR QY QUIELL FImUESIR a6 QQ- 695 62Q& 2IFl 2RI AL, |
Subject: General Studies and Computer | Chapter: set-11

QM) A set of instructions telling the computer what to do is called

A. mentor
) B. instructor
Options ]
compiler
v D. programme

Q® Which is not an input device?
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A. Keyboard
) v B. Monitor
Options
G Touch screen
D. Mouse

Q@3 What is cache memory?

A. Extra memory used for overflow from your hard disk
) B. A place to store secret information like pass words
Options ) ] )
C: [t is same as your hard disk drive
v D. Fast memory used for data that is accessed often

Q@) FORTRAN is

A. File Translation
B. Format Translation
Options
LG Formula Translation
D. Floppy Translation

QB Who was the first Indian to get selected in ICS (present-day equivalent to IAS officer)?

JA. Surendranath Bannerjee
] B. Sarojini Naidu
Options
C. Lala Lajpat Rai

D. C.R. Das

Q(6) The number of electrons in an atom of an element is equal to its

A. atomic weight
] v B. atomic number
Options 4 .
Cy equivalent weight
D. electron affinity

QM A ship rises as it enters the sea from a river because the

A. water in sea is hard water
) B. larger quantity of water in the sea pushes the ship upwards
Options _ ) )
C. density of sea water is lower than that of the river water
v D. density of sea water is higher than that of the river water

Q@8 The most abundant metal in the earth's crust is

A. zinc
B. copper
Options o
JC. aluminium
D. iron
QY allows you to display your presentation in a web browser.
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A. Custom Slide Show
v B. Broadcast Slide Show
Options
C. Set Up Slide Show
D. Rehearse Slide Show

Q (10) A voltmeter is used to measure

JA. potential difference
) B. electric current
Options _
C. electric power
D. resistance

Q (11) = Which is the most abundant element in our universe?

A. Carbon
) B. Helium
Options
o Cs Hydrogen
D. Oxygen
Q(12) Which of these metals is used in electroplating, a process that involves coating an object with
a rust-proof substance?
A. Iron
) B. Silver
Options _
C. Sodium
v D. Zinc

Q (13)  The first session of the Indian National Congress was held under the Presidentship of
A. Ao Hume
) B. B Malabari
Options ] §
C. Bdruddin Tayyabji

s D. WC Bannerjee
Q (14) =~ Which one of the following mountain peaks of Himalayas is not in India?

JA. Annapurna
] B. Nanda Devi
Options
Mt Kamet

D. Nanga Parvat

Q (15)  Which of the following is the main difference between the Western and Eastern Ghats?

A. Height
) v B. Continuity
Options
C. Proximity to the coast
D. Vegetation
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Q (16)  The post of Deputy Prime Minister is

A. mentioned in the Constitution
) v B. not mentioned in the Constitution
Options )
C. created by an Act of Parliament
D. convention

Q (17) | The leader of the House of Council of States is a

VA Minister of a Cabinet Rank

B. Union Minister
Options

C. Vice- President

D. Speaker

Q (18) = The Constitution of India can be amended under which Article?

A.  Article 361
/B, Article 368
C.  Article 268
D.  Article 261

Options

Q(19)  What is 'zero hour'?

A. When the proposals of the opposition are considered
. JB. When matters of utmost importance are raised
Options ) )
C. Interval between the morning and afternoon sessions

D. When a Money Bill is introduced in the Lok Sabha

Q 20) "BHIM" mobile app has been launched by Union Government to make digital payments
easier. What does "BHIM" stands for?

A. Build Interface for Money

B. Built-up Interface for Money
Options )

. Bi-aural Interface for Money

v D. Bharat Interface for Money
Q(21)  Which of the following is the Banker of the Banks?

A, IDBI

B. SBI
Options

v C. RBI

D. SBI and RBI
Q(22) The Jagannath Puri Temple was built in the year:
OptiOHS A. 1001

B. 1109

C. 1150
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v D. 1161
Which one is the largest district of Odisha by area :
Q (23) B 4
JA. Mayurbhanj
B. Malkangiri
Options
C. Nayagarh
D. Cuttack

Q (24)  Why was it difficult to get a job in a factory in 19th century Britain?

i Employers were looking for only skilled workers and they rejected inexperienced

applicants.
Options v/ B. The number of jobs were less than the number of job seekers.
C. Employers did not prefer migrants.
D. Employers wanted educated workers.

Q (25)  Coarser cotton was produced in many countries but finer varieties came from:

A. Persia
v B. India
Options
C. China
D. Surinam

Q (26)  Which country scored least on the Global Hunger Index in 20227

VA, Yemen
) B. Kuwait
Options
C. Afghanistan

D. Bosnia

Q27 Which of the two countries has emerged as the final bidders to host the 2027 edition of the
AFC Asian Cup?

A. China and Qatar
B. Qatar and India
C. Uzbekistan and Iran
v D. India and Saudi Arabia

Options

Q (28)  Who has been elected as the President of the Indian National Congress?

A. Priyanka Gandhi

v B. Mallikarjun Kharge
C. Sonia Gandhi
D. Shashi Tharoor

Options

Q (29)  Which bank has launched 'KBL Centenary Deposit Scheme?
Options J A Karnataka Bank
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B. Karur Vyasya Bank
C. IndusInd Bank
D. HDFC Bank

Q (30)  Who has been named the high-performance director (HPD) for Indian boxing?

VA Bernard Dunne
B. Rocky Marciano

Options ) )
Santiago Nieva

D. Joe Louis
Subject: Numerical Ability and Reasoning | Chapter: set-11

Rahim moves 20 metres in East direction and then turns to his left and then moves 15
Q) metres and then he turns to his right and moves 25 metres . After this he turns to his right

and moves 15 metres . Now how far is he from his starting point ?

A. 0 metre

) B. 40 metres
Options
2f1C, 45 metres

D. 50 metres
In the following question, five pairs of numbers are given, out of which the numbers in four

pairs bear a certain common relationship. Choose that pair in which the numbers are

Q@) differently related.
(a) 80-9 (b) 64-8 (c)36-6 (d)49-7

JA. 80-9
B. 64-8
Options
36-6
D. 49-7

In the following question, four/five pairs of words are given, out of these pairs one does not
Q@M bear the common relationship which the rest do. You are required to find that odd pair.

(a) With : Tihw (b) Just: Sutz (c) Done : Noed (d) Have : Aveh
A. With : Tihw
B. Just : Sutz
Done : Noed
v D. Have : Aveh

Options

In the following question various term of a letter-numbered series are given with one term
Q@ missing as shown by (?). Choose the missing term out of the given alternative.

A, C,EH,?. M
A. L
v B. K
Options
]
D. |
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Q5 The sum of all natural numbers between 100 and 200 which are multiples of 3 is
A. 5000
v B. 4950
Options
4980
D. 4900
Q (6) The HCF and LCM of two numbers are 27 and 2079, respectively, If one of the number is
297, then the other number is
VA 189
_ B. 144
Options
198
D. 238
Q) The least number which when divide by 24,30 and 54 leave 5 as remainder in each case is
A. 1080
) v B. 1085
Options
1084
D. 1086
Ram and Shyam start walking in opposite directions. Ram covers 6 km and Shyam 8 km.
Q8 Then, Ram turns right and walks 8 km and Shyam turns left and walks 6 km. How far
everyone is from their starting point?
A. 11 km
B. 8 km
Options
9 km
v D. 10 km
Q@ Ifp:q=3:4andq:r=8:9. Then, p:risequal to
A. 1:3
B 3:2
Options
 Cs 2:3
D 152
Q (10) If in a hostel, food is a available for 45 days for 50 students. For how many days will this food
be sufficient for 75 students?
A. 25 days
B. 28 days
Options
JC 30 days
D. 40 days
Q1) If Rahul gives interest of Rs. 450 for one year at 9% per annum. What is the sum he has
borrowed ?
Options A 4500
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B. 6000
F, 5000
D. 5500

A man buys a house and pays Rs.8000 cash and Rs. 9600 at 5 yr credit at 4% per annum
simple interest. Find the cash price of the house

Q12)

JA. Rs. 16000
B. Rs. 17600
C. Rs. 9600
D. Rs. 15000

Options

The average weight of 15 students was calculated to be 52 kg and it was later discovered that
Q (13)  one weight was misread as 21 kg instead of the correct one of 12 kg. The correct average
weight is

JA.  Slikg

B. 50.6 kg

Options
52.4 kg
D. 51.6 kg

Q(14)  The unit digit in the product of (2157 )' 3 is

A. 3
. VBT
Options
9
D. 1
Q (15) The sum of three numbers is 68. If the ratio between first and second is 2 :3 and that between
second and third is 5 :3 , then the second number is
JA. 30
B. 20
Options
58
D. 48

Q (16) | Which term of the sequence 7,10,13,... is 151 ?

A. 29th
B. 19 th
Options
59 th
s D. 49 th

In each of the following question, choose that set of numbers from the four alternative
Q(17)  sets, that is similar to the given set.

Given set : (63, 49, 35)
Options | 4 (72, 40, 24)
B. (72, 48, 24)
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C. (64, 40, 28)
/D. (81, 63, 45)

The ratio of ages of Ram and Rahim 10 yr ago was 1:3 .The ratio of their ages five years

Q{18) hence will be 2:3 . Then, the ratio of their present ages is
A. 1:2
Options £ .
C. 3:4
D. 2:5
Q (19) The price of a house increased by 25% after 10 yr, reduces by 25% during the subsequent 10

yr. [f the present cost is Rs 10 lakh, what will be its cost after 20 yr?

JA.  Rs937500
B. Rs 900000
C.  Rs 850000
D.  Rs725000

Options

Q (20) Raman's salary was decreased by 50% and subsequently increased by 50%. He has a loss of

A. 0%
v B. 25%
Options
C. 0.25%
D. 2.5%
Q 1) If an article is sold at 5% gain instead of 5% loss,the seller gets Rs 6.72 more.The cost price of
the article is
JA. Rs 67.20
B. Rs 120
Options
C. Rs 134.40
D. Rs 240
Q(22) A grocer purchased 80 kg of rice at Rs 13.50 per kg and mixed it with 120 kg of rice at Rs 16

per kg .At what rate per kilogram should he sell the mixture to gain 16% ?

A.  Rs 1450
/B. Rs 17.40

Options
C. Rs 11.50
D. Rs 9.50
Q(23) Pointing to Raman in the photograph, Aditi said, "The only son of his mother is my father".
How is Aditi related to Raman?
A. Mother's sister
] B. Bua (Father's sister)
Options
v C. Daughter
D. Niece
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What approximate value will come in place of question mark (?) in the following
Q (24) question.
5466.97 — 3245.01 + 1122.99 = ? + 2309.99

A. 1130
B. 1000
Options
v C. 1030
D. 1060

Q (25) | If the probability of rain today is 0.75, what is the probability that it will not rain ?

JA. 1/4
B. 3/8
Options
C, 3/4
D. 2/3
tx + Sy = 0 and 5x + ty = 0, How many values of t are possible to solve the two equations
Q@26) || . - "7
infinitely ¢
A. 5
B. -5
Options
JC. +5
D. 0

Q@27) 5x+3y+7=0andIx+my+9=0, If the two equations are inconsistent, what is :'m = ?

A. 32
B. N
Options
JC. 513
D. 329
Q(28) If we divide each of n numbers of numbers with M mean by 5, what will be the mean of the
new numbers?
A. M+5
B. M-5
Options
C. SM
JD. M/5

Q(29) Ifmode =4, mean =7 of a data set, what is the median?
JA.

B.

C.

D.

Options

R ol <IN e

kx? - (2k + 1)x + 5 = 0 If the sum of the two roots of the equation is 3, what will be the value
Q (30) of k 2

Options A )
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B. -1
JC. 1
D. 2
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